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Direction (Q. No. 1 and 2) : Choose the correct option from the choices listed below

each question.

1.

~ The second half of the movie was __interesting.

(A) little

(B) less

(C) least

(D) few

The lady to ' you sent the parcel has moved to a new address.

(A) who

- (B) whom

(C) whose
(D) which

Direction (Q. No. 3to 6) : Selectthe word which is closest to the opposite in meaning

of the underlined word.

3.

The conciseness of his expression surprised me.
(A) Redundancy

(B) Richness

(C) Felicity

(D) Terseness

The officer asked the clerk to expedite the ma&er.
(A) Postpone ' '

(B) Defer

(C) Adjoum

(D) Delay

The inhabitants of the island were barbarians.
@ Holy e
(B) Uncivilised

(C) -Cruel

(D) Ci\_/ilised
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6. The painting is full of tgcﬁa_m colours.
(A) Rare
(B) Bright
(C) Dul
(D) Delicate

Direction (Q. No. 7 to 10) : Choose the word nearest in meaning to the underlined
word :

7. Heis so garrulous that all sober persons avoid his company.

(A) Quarrelsome
(B) Talkative

(C) Domineering
(D) Foolish

8. Indolent people never succeed in life.
(A) Sluggish o
(B) Inactive
(C) Slow
(D) Slothful
9. The import technology as an alternative to indigenous technology has not been
discussed fully ; | |
(A) Aboriginal
(B) Indigent
(C) Termestrial
(D) Native

10. He likes his friend in spite of his little frailties :

(A) Frenzy

(B) Ego

(C) Oddities

(D) Weaknesses
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Direction (Q. No. 11 and 12) : Choose the correct sentence.
11. (A) Theratraninthe hole.

(B) Theratraninto the hole.

(C) Theratrantothe hole.

(D) The ratacross the hole.

12. (A) Raviis suffering of fever.
(B) Raviis suffering with fever.
(C) Raviis suffering from fever.
(D) - Raviis suffering in fever.
Direction (Q. No. 13 to 16) : Choose the correct alternative to fill in the blanks.
13. The faulty. ' |
(A) equipments are
(B) equipmentwas
(C) equipments were
(D) equipmentwere
14. .___arrived for you this morning.
(;’\) A fumiture
(B) Some furniture

(C) Some furnitures ..
(D) Fumiture

15. We would have passed if we harder.
(A) studied
(B) had studied
(C) study
(D) will have studied

16. Each ofthe answers ' worth 20 points.
(A) are
(B)- were
(C) is
(D) have
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ey,

18.

18.

20.

21.
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QOdisha State Anthem “Bande Utkal Janani” was written by :

(A) Utkalmani Gopabandhu Das

(B) Utkal Gaurab Madhusudan Das
(C) Kanta Kabi Laxmikanta Mohapatra
(D) Bhakta Kabi Madhusudan Rao

When did the Citizen Amendment Act (CAA) passed by Government of India ?
(A) June 2014

(B) November2017

(C) December 2019

(D) January 2020

From which country recently India purchased the multirole fighter aircraft Raffale for
the use of the Indian Air Force?

(A) Egypt

(B) France

(C) Gemany

(D) Russia

Which of the following places'on Indo-China Border is recently in news for the violént
face-off between the Indian Army and the PLA of China ?

(A) Galwan Valley

(B) DepsangPlains

(C) AxsaiChin

(D) Doklam Valley

The Vedic texts are divided into two parts are known as:
(A) Srutiand Smruti
(B) Shukla and Krishna

(C) SutraShastra

(D) None ofthe above
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22.

23.

24,

25.

26.

In which year the China-Pakistan Economic CorridorAgreement was sighed between
China and Pakistan ?
(A) 2007

(B) 2009

(C) 2012
(D) 2015

Human beings are referred to as Homo sapiens, which device is called Silico Sapiens ?
(A) Monitor ' |

(B) Hardware

(C) Robot

(D) Computer

Different components of the motherboard of a PC unit are linked together by sets of
parallel electrical conducting lines. What are these lines called ?

(A) Conductors -

(B) Buses

(C) Connectors
(D) Consecutive

Electrically charged particles from space travelling at speeds of several hundred

km/sec. can severely harm living beings if they reach the surface of the Earth. What
prevents them from reaching the su_rface ofthe Earth?

(A) Ozone layer around the Earth reflects them back to outer space
(B) The Earth’s mag netic field diverts them towards its poles

(C) Moisture in the upper layers of atmosphere prevents them from reaching the
earth ' '

(D) None ofthe above

The function of heavy waterin a nuclear reactoristo:
(A) Slowdownthe speed of neutrons

(B) Cooldown the reactor

(C) Increasethe speed of neutrons

(D) Stop the nuclear reaction
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- 27.

28.

29.

30.

31.

Fruits stored in a cold chamber exhibit longer storage life because :

(A) Rate of respiration is decreased

(B) Exposure to sunlightis prevented

(C) Concentration dioxide in the is increased of carbon env
(D) Thereis anincreasein humidity

ironment

The genetic material of Corona Virus that causes Covid-19is:
(A) DNA

(B) RNA

(C) Polysaccharide

(D) Polypeptide

According to the National Education Policy (NEP) 2020, to what percent the Gross
Enrolment Ratio in higher Education to be raised 2035 ? | O

(A) 25%

(B) 30%

(C) 40%

(D) 50%

The GST council has decided a four tier structure of taxation to cover most goods
and services. Which of the following is a correct group of these four tiers ?

(A) 5%, 10%, 15% and 20%

(B) 5%, 12%, 18% and 22%

(C) 5%, 12%, 18% and 28%

(D) 5%, 13%, 18% and 32% .

Which stock exchange is the oldest stock eichange inIndia ?
(A) National Stock Exchange

(B) Bombay Stock Exchange

(C) Integrated Stock Exchange

(D) None of the above

Which bank is called bankers bank ?
(A) State Bank of India
(B) Central Bank of India
(C) Commercial Banks
(D) Exim Bank
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33.

35.

36.

37.

38.

XL-

If a General Manager asks the Sales Manager to recruit some Salesmen on his behalf,
itis aninstance of : :
(A) Division of authority

(B) Decentralization of authority

(C) Delegation of authority

(D) Delegation of responsibility

Indiaisa:

(A) Developed Country

(B) Developing Country

(C) Capitalist Country

(D) Highly Industrialized Country

In the following question select the related number from the given alternatives :
256290 :: 961: 7

(A) 101 (B) 1017

(C) 1025 : (D) 1023

In a certain code languége ‘GARNISH’ is written as ‘RGAINHS'. How will ‘GENIOUS'
be written in that code ? ‘

(A) NEGIOUS

(B) ENGOIUS

(C) GENOISU

(D) NGEOISU

[f“A” denotes “added to”, “C” denotes “divided by, “D” denotes “multiplied by” and
“B" denotes “subtracted from”, then 72C9D2B6A10: '

(A) 30 . (B) 20

(C) 36 . (D) 40

Complete the series :
3,5, 35, 10, 12, 35,
(A) 19.,35
(B) 17,19
(C) 19,24
(D) 22,35
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39.

40.

41.

42,

43.

44,

Fillin the blank (?) :

s 2 3 8
4 5 10
6 7 12
32 50 7
(A) 128 (8) 92
(C) 200 (D) 30
If90 112 =40 and 130 1203 =75 then 400 410 5= 7
(A) 340 (B) 365
(C) 320 - (D) 405
Which one set of letters when sequencing placed at the gaps in the given letter series

shall complete it ?

BR___NB_O_NB

(A) OWOW ° (B) RORO
(C) WNWN o (D) OWRW

A series is given with one term missing. Choose the correct alternatives form the
given ones that will complete the series. -

?, Kerosene, Diesel, Fuel, OIl .
(A) LubricatingOil (B) Asphalt
(C) Petrol a (D) Wax

Raju drives 25km north and turns left and travels 5 km and reaches point ‘O’. He then
turns right and covers another 5 km. Afterwards turns to east and drives 5 km. How
much distance he has to travel to go-back to the starting point ?

(A) 35kms . : (B) 25kms

(C) 30kms (D) 20kms

Ann, Bill and Ken shared some stamps in the ratio 2 : 3 : 4. After a game the ratio
became 5:2: 2. If Ann won 21 stamps how many did Ken lose ?

(A) 28 (B) 21
(C 7 (D) 14
XL-46/13 (10) (Continued )



45.

46.

47.

48.

49.

50.

51.
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Find out the odd letters from the given alterndtives :

(A) EV (B) GT

(C) JQ (D) PL

In the following question, select the odd word from the given alternatives :
(A) Farmer (B) Blacksmith

(C) Cobbler (D) Helper

In a row at a bus stop. ‘A'is the 7th from the left and 'B'is Oth from the right. They both
interchange their positions. Now ‘A’ becomes 11" from the left. How many people

are there in the row ?

(A) 10 (B) 20

(C) 19 | (D) 18

At present, the ratio between the ages of Arun and Deepakiis 4 3. After 6 years,
Arun's age will be 26 years. What is the age of Deepak at present ?

-(A) 15years (B) 19years

(C) 24years K (D) 12years
If %X means '+, ‘+ means ‘_-—’, ‘+' means ‘+' and ‘=’ means ‘%’ then what should be the

value of the given equation ?
14%x4:70+10-2=7

(A) 33 LB ®) 15

(C) 30 (D) 4

Arun said, “This girl is the wife of the grandson of my mother”. WhoisArunto the'girl ?
(A) Grandfather (B) Husband

(C) Father-in Law (D) Father

In the following question, select the related word from the given alternatives.
Phycology :Algae :: ?: ?

(A) Eccrinology : Amphibians

(B) | Selenography: Blood

(C) Haematology : Blood

(D) Entomology: Sail
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52. If'JUNE'is written as 'PQRS', an ‘August is written as 'WQFQMN'. How can ‘GUEST
be written is this same coding language ?
(A) FPSMN (B) FQSMN
(C) FQSNM (D) FQTMN
53. Ondividing 144 a®b>c’ by 24 ab’c, we get :
(A) 6a’b% (B) 6a’bc?
(C) 24 a’bc? | (D) 24b%c
54 lfxz—xr+ 1=0, then what is the value of | X "1) [
: 68 , %) !
A V66 | | (B) 8
©) Je2 (D) 6
55. Ifx+y=7, then what s the value of x3 +y +21xy ?
(A) 343 , - (B) 29
(C) 294 (D) 288
2 1
56. If2a- ( ] +4=0, then whatis the value of a® - 3 +14 7
A -14 (B) -12
(C) 0 ' (D) 14
57. Awholesaler sells a watch to a retailer at a gain of 32% and the retailer sellsittoa
customer at a loss of 20%. If the customer pays I 1953.6, what had it cost the.
wholesaler ? :
(A) 2063 ' (B) 2394
(C) 1850 (D) 1637
58. After glvmg a discount of 44% a cycle is sold for Z 17,920. Whatis the marked price
(in%) of the cycle ? . .
- (A) 28,000 (B) 31,500
(C) 32,000 (D) 35,000
XL -46/13 ‘ (12)
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59.

60.

61.

62.

63.
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What is the value of tan (%T’t‘) sin (7_:') ?
- ® T3
oo :
(C) 23 2
Which of the following nUmbers is completely divisible by 89 ?
o) 17 (B) 51557
oy EEGaE _ (D) 49984

80 meter away from the foot of the towér, the angle of elevation of the top of the tower

is 60°. What is the height (in metres) of the tower ?

(A) 40 SRR (B) 6043
e, . 40
© 85 - - ©® 7

If cos C + cos D = x, then the value of X is :

C+D Cc-DY
(A) 2cos 5 |¢0s| T3

(B) 2$in(C;D)sin(C;D)

(C+D) _ (C—D\.
(C) 2cos|— Jsin 2

- _(C+D C-D)
(D) 2sin| —— |cos | 2

What is the value of positive square root of (69 +28 J/5) ?.

A) 7+2(5
B) 7-245
(C) 2+7.5

D) 2-7+5
(13)‘ | " (Tumover)-



B5.

67.

68.

68.

70.

A mbertwice
boy added all natural numbers from 1 to 12, however he added one nu ki
4 ce
due to which the sum becomes 80. What is the number which he added twi

@ 3 @ 2
© 7 (D) 8

Ifthe ‘E“Qfh of the diagonal of a cube is 8,/3 cm, then its surface areais:
(A) 192cm? ®) 512cm?

The product of digits of a 2-digit number is 24. If we add 45 to the number, the new

number obtained is a number formed by interchanging the digits. What is the original
number ?

(A) 54 (B) 83
(C) 38 (D) 45
If cos x+cosy=2, then the value of sinx +sinyis:
A 0 . : B) 1
C) 2 O) -1

Sister can bake 50 cakes in 25 hours. Sister and Mummy together can bake 75
cakes in 15 hours. How many cakes Mummy can bake in 15 hours ?

(A) 25 (B) 45
(C) 20 '_ : (D) 10
3" 43243+ 3%{s divisible by :

A) 7 (B) 8
(C). 11 (D) 14

The extenal bisector of £B and ZC of AABC (where AB and AC extendedtoEand

F respectively) meet at point P. If ZBAC = 100°, then the measure of Z/BPC s

(A) 50° (B) 80°
(C) 49° o (D) 100°
XL -46/13 (14)
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SPACE FOR ROUGH WORK
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